
GET FLIX GET FLIX 
Efficiently choose your 

entertainment providers  
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Your shows 
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Your options 
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The Problem 

Given a budget constraint, which 
entertainment platforms should a 
customer subscribe to? 
 
What is the most efficient (cheapest) 
way to get the most desired programs? 
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Model Inputs 
 

1. Assigned preferences for each show on a 
scale from 1 to 10 
 

2. Identified budget which will serve as the 
constraint 
 

3. Create filter for which shows are carried 
through specific distribution channels 
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Show availability on various platforms 
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Excel Solver 

1. The 1-10 scale ratings assigned serve as the “utility” 
of each show. 
 

2. Solver attempts to maximize total utility by 
choosing combinations of entertainment platforms. 
 

3. With each additional platform comes additional 
utility, however Solver can’t exceed the budget 
constraint. 
 

4. Utility only comes once. There is no additional 
utility by getting the same show from different 
providers. 
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Excel Solver 
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Excel Solver 
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Extending with SolverTable 

1. Run Solver multiple times with different 
budget constraints (in this case from $10 -
$100 in $1 increments) 
 

2. Graph total utility vs. budget 
 

3. Analyze “shadow cost” of other options 
based on show preferences 
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SolverTable results 
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Interpretation 

1. The graph shows where I get the most 
bang for my buck (largest utility jumps) 
 

2. I can assess which plateau best fits my 
budget if it is not concrete 
 

3. I love Game of Thrones and It’s Always 
Sunny in Philadelphia 
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With the rise of internet alternatives, should the 
cable companies be scared? 

vs 

The 
Internet 
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Model Inputs 

1. P-values for todays most popular tv shows 
based on Nielsen ratings 
 

2. Platforms that carry each show 
 

3. Cost of each platform 
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Leveraging Crystal Ball we used the p-values to dictate 
binary decisions which simulated overall customer 
demand 
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The probability of a yes was linked to its 
corresponding cell for each show 
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This drove the inputs of our model, creating yes/no 
decisions which translated into total cost for each 
individual trial’s optimal decision 
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Crystal Ball 

1. The “yes/no show” demand decision 
determines whether a show is factored 
into the platform pricing 
 

2. Crystal Ball runs 10,000 trials and monitors 
the outcome of Cable or Internet for 
media consumption. 
 

3. Average cost for each platform was also 
forecasted. 
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An example of the model output after 1 trial. In this 
instance the internet alternative was the best choice. 
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Our simulation shows the internet-based option 
to be optimal in > 80% of trials 
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And the average cost of cable is more than double the 
average cost of the internet-based solutions… 

Statistics: Forecast values 

Trials 10,000 

Base Case 19.99 

Mean 27.36 

Median 27.98 

Mode 27.98 

Standard Deviation 4.60 

Variance 21.19 

Skewness 0.4589 

Kurtosis 4.36 

Coeff. of Variation 0.1682 

Minimum 19.99 

Maximum 38.97 

Range Width 18.98 

Mean Std. Error 0.05 

Internet alternative 

Statistics: Forecast values 

Trials 10,000 

Base Case 0.00 

Mean 59.78 

Median 64.99 

Mode 64.99 

Standard Deviation 27.94 

Variance 780.73 

Skewness -1.41 

Kurtosis 3.64 

Coeff. of Variation 0.4674 

Minimum 0.00 

Maximum 84.99 

Range Width 84.99 

Mean Std. Error 0.28 

Cable 
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Interpretation 

1. Most of our selected shows were offered 
via the internet, whose options are 
generally cheaper than cable 

2. Digital delivery of media content will most 
likely continue to put price pressure on 
cable companies 

3. People love NCIS and The Voice 
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Questions? 
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